Argus Bridgeclub *** C ubTornooi *** 4 giften per ronde *** 08/04/2019 NZ OW|gift 1 NZ OV !qift 2 N OV gift 3 N2 OV gift 4 N2 OV
1 Stan Vercanmen-Liliane Lenssens 31 Nora Maes-Madv Haens 1 31 34 0 500 wSI-: 33 1 170 71S+3/31.8 2,2 -120 VWN= 7 27 -170 Q2H+2
2 Andre Vanweddi ngen- Gust Bl auwens 32 Bezoeker 4-Bezoeker 5 8 38 32 2 200 VBN-4 22 12 "140 72S+123.4 10.6 -630 VBN+1 33 1 100 GBN-1
3 Lisette Stroop-Thea De_Paauw 33 Jacky Svnons-Chris Hevl en 7 36 1 33 -460 GBN+2| 22 12 140 71S+:21,7 13,6 G¥60% 40 18 16 -120 OLN+
4 Hel aa Pettersson-Danv Theunis 34 Martine Potters-Sonia Marissen 6 39 12 22 -430 WBN+1 2 32 -200 Z3H-2/9.6 24.4 -650 O4S+1] 24 10 -110 WeR+1
5 Chri s De d erck- Maraot Byl 35 Huub Chvsebrechts-Ellv Soeters 9 34 12 22 -430 WBN+1 12 22 80 71S=23.4 10.6 -630 VBN+1 24 10 -110 WBR= |
6 Elv Dierckx-Rene Tuvaerts 36 Paul Wi nants-Bezoeker 5 32| 28 6 -150 V@N+1 22 12 140 Z1S+:23.4 10.6 -630 WBN+]1 14 20 -130 W2R+
7 Bruno Deckers-Hennie De Paauw 37 Jose Van Soest-Maraot Jans 4 40 12 22 2430 WBN+1 8 26 -100 Z2S-1/23.4 10.6 -630 VBN+1 14 20 -130 WR+
8 Deni se Brecx-Hilde Hendri ckx 38 Marc Brecx-Sine Jehaes 10 37 12 22 -430 VBN+1 33 1 170 Z1S+3/9, 6 4 -650 AS+1 24 10 -110 Q2H=
9 Claire Truven-Maria Vekens 39 Mariejos Bastiaansen-Hanneke Siereveld 3 35 1 33 -460 OBN#2 30 4 150 NIN+2/9. 6 24.4 -650 O4S+1] O 34 -600 CBN=
10 Evi Steensel s-Marariet Hell emans 40 Bezoeker 1-Bezoeker 1 2 41 12 22 -430 VBN+1 22 12 140 ZZS+19‘6 4 -650 O4S+1] 14 20 -130 WR+

11 Stefan Deckers-Roel and Verstraete 41 Hi | de Verpoest-Erik Van Eynde R _ : N _

101 Rit Tiel enmans-Ward Spooren 131 Ludo Heul ens-Leo Luvckx %%1 %gl %g 12 438 %“-:1 g %g %88 %%3%5364 046 SSOO%NIJ 34 %8 ﬁg %gﬁ
102 Jul es Van Leuven-Bob Verstraete 132 Van Gerwen-Ludo Soet ens 107 136 12 52 _230 VBN+] 9 35 2500 74320 1 '9 _660 CBNIZ 54 10 ‘110 V\2R+1
103 WI Van Wyensel -Li sette Cassiers 133 Theo Duchanm-Leslie Cairns - - - -+
104 Frank Van @Gl ck- Lut| e \Vets 134 Fr ans Poppe- John Poppe 106 134 12 22 -430 V\BN+] 22 12 140 ZZS+133 9 1 -100 Z3H 2 7 27 -170 W H+2
105 Maria Van de Vel de-Sien Spooren 135 E vire_Meeus-Bezoeker 3 105132 12 22 -430 GBN+1 22 12 140 Z2S+19.6 24.4 -650 OAS+l 2 32 -210 OIN+4
106 Jan Nbrt_el mans- Paul a Ver meul en 136 M eke Tuvaerts-M m Huvbrechts 104 137/ 24 10 -400 VBN= 22 12 140 725+19.6 24.4 -650 OAS+1 10 24 -150 OLN+2
107 Cary Celis-Bob Buytaert 137 Marcel Chysebrechts-Hugo Verl aeckt 103 135 24 10 _-400 VBN= 14 20 110_N1H+I9. 6 4 -650 AAS+l 30 4 -90 VBR= |
102-133L 12 22 -430 WBN+1 8 26 -100 72S-129,7 4.3 -620 O4S=_1 33 1 100 WR-1
NZ OW|gift 5 NZ OV gift 6 NZ OW gift 7 N2 OWV gift 8 NZ OwW | INZ OWV|gift 9 NZ OW gift 10 NZ oW gift 11 NZ ON lqift 12 Nz OV ‘
2 32 31 3 50 WAN-1 6 28 450 74S+1 16 18 -600 OBN=24,4 9,6 50 VBN-1 3 33 1 33 -600 VBN= 28 6 -100 NBR-1] 12 22 50 AS-1 23 11 50 Q2K-
9 39 2 32 -300 NBH3 27 7 510 Z5S+2 10 24 -680 UH+224,4 9,6 50 WS- 1 10 40 22 12 -110 BRH 6 28 -200 N2S-2/ O 34 -170 B8S+1 23 11 50 S
1 37 17 17 -130 WBK+1 22 12 490 Z3N+: 25 9 100 O6N-1j11,7 22,3 -140 WBS= 2 31 9 25 -150 WAIN+2 30 4 100 AK-1 12 22 50 AS-1 29 5 90 ZIN=
7 40 17 17 -130 WVBR+1 34 0 1010 Z6S+1 25 9 100 WBN-1 17 17 -90 OLN= 1 41 26 8 -100 Z2S-2 19 15 -130 GBK+1 32 2 450 Z5H= 15 19 -100 ZIN
10 35 23 11 -120 WIN+1 16 18 480 Z4S+: 25 9 100 O6N-124,4 9,6 50 Wl&l 11 36 9 25 -150 WAN+2| 13 21 -150 O4K+1 2 32 -140 BS= 33 1 100 O2N-2
6 33 27 7 -90 WN= | 10 24 460 Z3N+2) 25 9 100 WS- 1 niet gespeeld 7 38 31 3 100 WBN-1] 24 10 -120 WN=| 32 2 450 NsH= 29 5 90 ZIN=
5 41 17 17 -130 WBK+1 32 2 980 76S= 7 27 -690 GBN+3 24,4 6 50 Wl&l 8 34 18 16 -120 VN 13 21 -150 OBK+:z 32 2 450 Z4H+1] 8 26 -110 WH=
11 31 27 7 -90 WIN= 16 18 480 74S+: 7 27 -690 OBN+3/2,2 31.8 -420 WS= | |6 32 22 12 -110 BR= 6 28 -200 N3BR-21 12 22 50 A4S-1 8 26 -110 @2S=
4 38 4 30 -180 WN+2 27 7 510 Z4S+3 25 9 100 O6N-1/11,7 22,3 -140 WBS= 5 39 22 12 -110 WK+l 34 0 130 MR= 25 9 100 &BS-21 15 19 -100 Z1N
8 36 6 28 -170 GBR+3] 0 34 -100 Z26S-2| 25 9 100 OrH1/11,7 22,3 -140 WS+1 |9 37 9 25 -150 VWN+1 24 10 -120 2N= 12 22 50 AS-1 23 11 50 BS-
3 34| 10 24 -150 WN+1 6 28 450 74S+1 O 34 -1440 O6N=24.4 9.6 50 WMS-1 4 35 31 3 100 @BN-1 32 2 110 N2R+1] 25 9 100 6S-2 8 26 -110 »S=
1021320 O 34 -400 VBN= 16 18 480 Z4S+: 25 9 100 O6N-1/32,9 1,1 100 WBN-2 103 133 28 6 -90 2R= 24 10 -120 OLN+1] 12 22 50 US-1 23 11 50 »S-
101 137, 10 24 -150 WAIN+2| 2 32 -50 Z3N-1 13 21 660 O4N+12,2 31.8 -420 WAS= | |102 131 34 0 200 WBK-2 O 34 -1110 O4KI4 12 22 50 AS-1 1 33 -200 N2H-2
107 135 10 24 -150 WAIN+2| 6 28 450 74S+1 3 31 -1430 O6HH 6,4 27,6 -150 WLN+2 101 136/ 9 25 -150 2R+3 13 21 -150 OLN+z 25 9 100 A4S!-1 15 19 -100 ZIN
106 133 23 11 -120 WIN+1 27 7 510 74S+3 3 31 -1430 G6H=32,9 1.1 100 V\BNZ 107 134 9 25 -150 WAN+2 19 15 -130 OBK+1 12 22 50 4S-1 1 33 -200 ZIN-2
105131 31 3 50 VN1 16 18 480 Z4S+: 13 21 660 OBN+2, 2 31.8 -420 WIS= 106 132 9 25 -150 WK+3 2 32 -300 N3S-3 12 22 50 4S-1 33 1 100 &BS! -
104 136 34 0 100 WBN-2| 27 7 510 Z4S+3 25 9 100 OBN- lLll 7 22,3 -140 V\BS— 105 137, 16 18 -130 2R+z 13 21 -150 2K+ 12 22 50 A4S-1 4 30 -140 2S+1
1103-134L 17 17 -130 BR+1 16 18 480 z4S+: 34 0 200 O6N-2124.4 9,6 50 WMS-1  [104.1350 1 33 -600 VBN=—L 6 28 -200 N3S-2. 25 9 100 GBS-2o 15 19 -100 Zi1N

NZ OW|gift 13 NZ OW gift 14 NZ oW gift 15 NZ OV gift 16 NZ OW | |INZ OWl|gift 17 NZ ON gift 18 NZ OW gift 19 N\Z OW gift 20 NZ oW
4 34 0 34 -690 VBN+3 32 2 100 BR-2 9 25 -140 WeH+1 10 24 -660 VBN+2 5 35 7 27 -450 WAS+1 2 32 -420 WMS= 16 18 -620 WiHH 33 1 100 ™4S-1
11 41 33 1 100 WBN-1] 10 24 -420 WAS= 21 13 -90 OINe 22 12 -630 VBN+1 |4 39 7 27 -450 WAS+1 25 9 50 WBS-1/ 16 18 -620 O4H+ 21 13 -140 WS+
3 38 13 21 -680 WAH+. 1 33 -450 WMS+1 30 4 50 ®2N-1 22 12 -630 VBN+1 |9 33 7 27 -450 WAS+1 33 1 100 WAS!-1 16 18 -620 WiHe 21 13 -140 VS+
8 32 13 21 -680 WAH+: 32 2 100 4s-20 21 13 -90 OIN 34 0 100 4H1 3 31 32 2 -400 VBN= 6 28 -300 74H 3 16 18 -620 WiHe 9 25 -170 WeS+2
2 37 13 21 -680 WAH+. 24 10 50 AS-1 30 4 50 ®2N-1] O 34 -690 VBN+3 2 40 24 10 -420 wWAS= 14 20 -140 V\BS5 4 30 -650 GBH= 9 25 -170 W2S+2
1 39 13 21 -680 WAH+Z 10 24 -420 WAS= 30 4 50 2N-1] 10 24 -660 VBN+2 10 36 24 10 -420 WS= 33 1 100 WS-2| 4 30 -650 WMAH+1 O 34 -620 WAS= |
9 35 13 21 -680 WAH+Z 10 24 -420 WAS= 14 20 -120 &2N5 10 24 -660 VBN+2 1 34 32 2 -400 VBN= 2 32 -420 WMS= 16 18 -620 WiHe 21 13 -140 VS+
7 33 13 21 -680 WAH+Z 10 24 -420 WAS= 9 25 -140 WH+, 22 12 -630 VBN+1 |7 41 24 10 -420 wWS= 14 20 -140 WBS= 16 18 -620 WiHe 33 1 100 ™4S-1
6 40 29 5 -230 VBH+3 32 2 100 BN-2| 3 31 -150 OLN+2 2 32 -680 AH+2 11 32 7 27 -450 WAS+1 25 9 50 wvS-1 30 4 100 WMH1 21 13 -140 WS+
10 31 33 1 100 WiH 1 24 10 50 AS-1 30 4 50 WH-1 22 12 -630 VBN+1 |6 38 7 27 -450 WAS+1 25 9 50 wvS-1 30 4 100 4H1 21 13 -140 WBS=
36 26 8 -650 WAH+1] 24 10 50 wvs-1/ 30 4 50 2N-1] 10 24 -660 VBN+2 8 37 7 27 -450 WbS= 25 9 50 WMS-1 16 18 -620 WAHe 9 25 -170 W2S+2
104 134 13 21 -680 O4H+: 18 16 -200 WS+: 3 31 -150 OLN+2 10 24 -660 VBN+2 105135 24 10 -420 WAS= 2 32 -420 WMS= 30 4 100 GBN-1 9 25 -170 WeS+2
103 132 13 21 -680 WAH+Z 10 24 -420 WAS= 14 20 -120 &2N5 10 24 -660 VBN+2 104 133 7 27 -450 WAS+1 14 20 -140 WBS= 16 18 -620 WiHe 9 25 -170 WeS+2
102 137/ 13 21 -680 WAH+. 1 33 -450 WS+l 3 31 -150 Q2N+1 22 12 -630 WBN+1 |103 131 7 27 -450 WAS+1l 18 16 -110 WS= 16 18 -620 WAHE 29 5 -110 WsS=_
101 135 13 21 -680 WAH+Z 10 24 -420 O4S= 14 20 -120 @2N5 10 24 -660 VBN+2 102 136 32 2 -400 GBN= 9 25 -170 W8S+1] 30 4 100 AH1 2 32 -200 Z2H 2
107 133 13 21 -680 WAH+Z 10 24 -420 WAS= 21 13 -90 OINH 32 2 -130 WeK+2 101 134, 17 17 -430 VBN+1 25 9 50 W\S-1 O 34 -660 VBN+2 29 5 -110 2S= |
106 131} 13 21 -680 WAH+2 24 10 50 VBN-1 3 31 -150 Q2N+1) 28 6 -170 O’H+2 107 132 24 10 -420 WAS=| 25 9 50 WS-11 30 4 100 G6H1 9 25 -170 WeS+2
105-136L 29 5 -230 WH+4L 24 10 50 WVBN-1L 21 13 -90 OLN=L 30 4 -150 WBK+2 106-137L 17 17 -430 VBN+1 9 25 -170 WBS+1L 4 30 -650 AH+1L 21 13 -140 WS+

NZ OW|gift 21 NZ OW gift 22 NZ oW lqift 23 N\Z OW gift 24 NZ OW ‘ NZ OW|gift 25 NZ OW gift 26 NZ OW lgift 27 NZ OW |gift 28 NZ OWN
6 36 1 33 -100 N5R-1] 13 21 -100 N4H-- 26 8 100 WH1 O 34 -120 OLN+1 |7 37 34 0 170 N3H+1 13 21 -120 OLN+1 14 20 -150 WN+1 30 4 640 N5R+2
5 40 27 7 620 zZ4S= 25 9 110 72S=| 32 2 200 WiH-2 18 16 50 WR-1 |6 41 26 8 140 N3H= 22 12 -110 BK 21 13 -130 BK+1 33 1 1150 N5R! +
10 34 27 7 620 zZ4S= 20 14 -50 ZIN-1 13 21 -110 WHs 18 16 50 VN-1 |11 35 26 8 140 N3H= 22 12 -110 BK= 14 20 -150 WN+1 33 1 1150 N5R! +
4 32 34 0 650 Z4S+1 13 21 -100 N4H-Z 13 21 -110 WH5 34 0 150 VWBN-3 5 38 17 17 110 NeHH 2 32 -150 OLN+2| 30 4 -110 2K+l 20 14 190 N4R+
3 41 32 2 630 Z3N+1 3 31 -130 BR+1] 32 2 200 W\BH2 7 27 -90 OLN= 8 33 26 8 140 N3H= 34 0 200 GBN-2| 1 33 -430 WBN+1 17 17 100 GBS!
11 37 | 10 24 130 N3R+1] 7 27 -110 BR= 13 21 -110 WHs 7 27 -90 WR= 4 31 5 29 -100 NdH 2 13 21 -120 OLN+1 25 9 -120 WIN+1 25 9 620 N5R+1
2 38 22 12 600 N5R= 7 27 -110 ABR= 20 14 -100 ZIN-1 28 6 100 VBN-2 3 39 13 21 100 @8S-1 30 4 100 GBN-1 6 28 -180 WAN+3 12 22 50 WS-
8 35 17 17 150 N3R+z 29 5 140 z3S= 4 30 -200 ZIN-2| 7 27 -90 WR=1| |9 36 0 34 -140 @BS= 6 28 -130 BK+1] 6 28 -180 WN+2 2 32 -420 WAS= |
1 33 17 17 150 N3R+z 34 0 360 zi1S!'+z 13 21 -110 WHs 28 6 100 VBN-2 2 34 9 25 -50 NdH1] 13 21 -120 OLN+1 6 28 -180 WN+2 25 9 620 N5R+1
7 39 20 14 170 Z3S+l1 25 9 110 Z22H= 32 2 200 \BH2 28 6 100 VN-2 1 40 13 21 100 WBS-1 22 12 -110 2K+1 25 9 -120 WN= 12 22 50 WS-
9 31 27 7 620 z74S= 0 34 -150 Z1K-3| 26 8 100 WH1 18 16 50 VBR-1 |10 32 26 8 140 N3H= 2 32 -150 OLN+2 30 4 -110 BK= 2 32 -420 WAS= |
106 136/ 5 29 110 N3R= 13 21 -100 N1H-Z 7 27 -140 WBH= 18 16 50 VBN-1 (107 137 26 8 140 N3H= 2 32 -150 OLN+2| 14 20 -150 WN+1 17 17 100 WS-
105 134, 27 7 620 zZ4S= 20 14 -50 Z2H1 20 14 -100 ZIN-1 18 16 50 WVWN-1 |106 135 26 8 140 N3H= 13 21 -120 OLN+1 21 13 -130 GBK+1 25 9 620 N5R+1
104 132 10 24 130 N3R+1 32 2 200 WIN-21 7 27 -140 WH+Y 7 27 -90 WR= 105 133 26 8 140 N3H= 26 8 -90 OIN=1| 14 20 -150 WN+1 8 26 -140 WBS=
103 137, 10 24 130 N3R+1] 3 31 -130 2K+2| 26 8 100 WwH1 7 27 -90 OLN= 104 131, 17 17 110 N2He 13 21 -120 OLN+1 30 4 -110 BK=| 12 22 50 AS-
102 135 14 20 140 73S= 20 14 -50 Z2N-1 1 33 -300 z3S-3 28 6 100 OLN-2 103136/ 5 29 -100 NdH2 13 21 -120 OLN+1 14 20 -150 VWN+1 6 28 -170 WBS+1
101133 1 33 -100 z74S-1) 13 21 -100 Z3H: 1 33 -300 723S-3 7 27 -90 WVR=| (102134 9 25 -50 N3H1 30 4 100 QBN lL 34 0 50 WLR- lL 25 9 620 N5R+1
1107-131L 5 29 110 NBR=L 29 5 140 Z2S+1. 20 14 -100 73S-1 28 6 100 WVBR-2 1101-132L 2 32 -110 »S= 30 4 100 GBN-1L 1 33 -430 WBN+1L 2 32 -420 WAS=_



